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Q.No: 1 Who released ‘Rashtra First - 82 years of golden saga' in 2021?
2620187

YUY - 82 IY Ht Wuf MU (Rashtra First - 82 years of golden saga) @I 2021 ¥ e i feram?

Narendra Modi

A
Mg A
Rajnath Singh
B
ey Rig
Ram Nath Kovind
C
I Y PG
Amit Shah
D
3fia =g

Correct Ans : D

Subject : Gen. Knowledge graduate

2'5'\‘200:2250 Where was the 19" Conference of the Parties of CITES to be held from 14 to 23 November in 20227

2022 ¥ 14 3 25 F=< OF CITES FT TIEAT F1 1977 qer Fai A== fFar 12

New York
A

s

California
B

Ffermiffar

Montreal
c

wifae

Panama
D

AT

Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 3 By what percentage are particulate matter emissions expected to be reduced under India's National Clean Air Strategy by 2024?
2620251

2024 T HRA $I AP WD A WA F T80 WEGae Hox IwoM b URd de HH eH @1 SHIG 82
A 25 Percent
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25 yfsma

30 Percent

30 yfa=a

45 Percent

45 yfo=ra

50 Percent

50 yfa=ra

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 4 By when the National Bio Energy Program will be implemented?

2620255
T S Fe HRIFHH B qP A, fopar Smerm?
2023-24
A
2023-24
2024-25
B
2024-25
2025-26
c
2025-26
2026-27
D
2026-27

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 5 Who among the following has been awarded the Abel Prize for the year 2022?

2620275
Frofied & @ 53 af 2022 & 6T RSR I JwEA 3 T 82
Avi Wigderson
A
T e
Laszlo Lovasz
B
el starer
Gregory Margulis
Cc
It wrifer
Dennis Sullivan
D

3 g
Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 6 Who among the following has been awarded the Nobel Prize in Literature for 2022?
2620281
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Fofifed & 3 5 2022 F o Tt & Aed REHR | gwfa o mar 32

Carolyn R. Bertozzi

A
Annie Ernaux
B
o gt
K. Barry Sharpless
C
¥F. 8 zmfaw
Morten Meldal
D

HéA Aesa

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 7  Which edition of the annual India-Sweden Innovation Day was organized in Stockholm, Sweden on 27 October 2022?
2620351

27 AR 2022 P WbeH, Wied H T YURA-THS SHAT S BT B TT UHRUT AT 3 T o1

Tth
A
wraar
gth
B
SfTear
gth
c
ar
1o®
D
gwat

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 8  When is the International Day for the Complete Elimination of Nuclear Weapons observed?
2620356

TR FRART & quf I7eH & o SRS feaw sa A= S 82

October 20
A
20 TR
September 26
B
26 RawR
June 25
C
25 5
April 17
D
17 3%

Correct Ans : B

Subject : Gen. Knowledge graduate
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Q.No: 9  When is the International Day for the Preservation of the Ozone Layer observed every year?

2620357
SIS TRA & W& F R ARG e &= A H HAE1 S 82
September 10
A
10 RdsR
September 16
B
16 RdsR
September 20
C
20 e
September 25
D

25 R
Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 10 Who among the following adopted a system of dagh (branding of horses) and prepared huliya (descriptive list of soldiers)?
2621917

Fofifed & F fam o (aret 3t §ifE) vomel & sroem ok gferan ([T 3t avfiers gt JuR @

Bahlol Lodhi
A

gara ardt

Tughril Khan
B

GUIRGACIE

Alauddin Khilji
C

SraTSE st

Sikander Lodhi
D

ez e
Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 11 Whom did the Alvar Saints worship?

2621927
AR T fFgd! gon #=a 3 2
Shiva
A
fRra
Vishnu
B
forsgy
Shakti
Cc
RUES]
D Indra
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&

Correct Ans : B

Subject : Gen. Knowledge graduate
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Q.No: 12 Who among the following propounded the Advaita (Monism) philosophy?

2621931

Frafafed 7 @ fFea o1gd (Srgdare) e @1 yauriad far

Shankaracharya

e

Ramanuja

TS

Madhavacharya

ryarard

Chaitanya

I

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 13
2621990

In the Congress session of 1891 Dadabhai Naoroji added the word ‘Indian National’ before ‘congress’, who was the president of this session?

1891 ¥ HR AR F TS RIS 7 'S J U5 ST AT Weg, SiTST, 39 FIIRE & 3femes B 42

Feroz Shah Mehta

5t =mE Agar

Dadabhai Naoroji

SIETHTE FRISH

P. Anand Charlu

. g aref,
M.A. Sayani

TH. T |4a

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 14 The method of financing a project or a new venture through funds raised from a large number of people is called

2622129

TSI T ¥ A 4 e TE yeRIR & A 9 fopedt ufvaier a1 e ST & it 9 @t fafy EAeinI]

Crowdfunding

SH-TEaNT

Commercial funding

aiforus fa=r awor

Cross-subsidization
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PIY-AioHS I

Debt- overhang

HUT Pt SAfUwHar

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 15 What is the total value of financial streams or assets that can be taxed by the government?

2622133
o urrsit a1 ot o1 $a ged 31 8 R IR TSR §RT R TR o qebell 87
Tax Base
A
P STUR
Tax Buoyancy
B
5 3o
Tax elasticity
C
X A
Tax expenditure
D

PR A
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 16 As per the budget for 2022-2023, what is the estimated economic growth?

2622298
2022-2023 & §oC & IER, AT e gf wam 82
9.0
A
9.0
9.2
B
9.2
11.3
c
11.3
6.4
D
6.4

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 17 On which date the Economic Survey 2021 - 2022 was tabled in Parliament?

2622303
e gdarmr 2021 - 2022 I TU H f5y atE &1 9w fopar T Ur?
1 January 2022

A
1 Sa’t 2022

B 31 January 2022
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31 TGt 2022

1 February 2022

1 BRadt 2022

2 February 2022

2 BRast 2022

Correct Ans : B

Subject : Gen. Knowledge graduate
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Q.No: 18 Which of the following committees recommended creating a three-person electoral commission?

2622460

frafafed & @ forw aftfa 3 A vewia gA1g smint s 3t R 3 82

Ashok Mehta Committee

3N Agar AT

JR Committee

SR Tt

Balwant Rai Committee

gaad I Tt

Tarkunde Committee

aR$S Aiufa

Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 19 The “Internal Disturbance” was replaced by “Armed Rebellion”, Which constitutional amendment did this?

2622487

"3RG TSaS" B "R fagie" gR1 ufownfid S wa, g fhw Wiy e gRT fvar mar are
4228 Constitutional Amendment Act, 1976

4297 I weA T, 1976

44% Constitutional Amendment Act, 1978

44t Adfayr wxeq AT, 1978

61% Constitutional Amendment Act, 1989

61af dfau Sy rfufead, 1989
83" Constitutional Amendment Act, 2003

83qi faur J=y= fufaw, 2003

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 20 How many times in a year do ordinary meetings of the municipality meet?

2623640

TRUIIDT F TR Yo a9 A fba-t IR gt & ?

3 times - in the months of January, April and September
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3 gR- Sadt, e 3R Rydeaw & oA &

4 times - January, April, July and October

B
4 IR - A, 3fd, AT 3R SagaR
Once in an year
C
|9 & TP IR
Twice in an year
D

ara § g R
Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 21 What is the unit of Solid angle?

2629759
9 B0 BT THTS AT 52
Radian
A
RiEpE
Degree
B
&
Steradian
C
=T
None of the given options
D

fow g fawedt & @ oIS T8
Correct Ans : C

Subject : Gen. Science graduate

Q.No: 22 is defined as the amount of biomass or organic matter produced per unit area over a time period by plants during photosynthesis.
2632018

D BT TRAYYN & SR Uel gRT T T fafdy & Ufd op1s & o Iaed ST a1 Srae gerd & Aem & =0 # uRuiia far mar 31

Biotic potential

A
A arerar
Tertiary productivity
B
Jdrae IaTgddr
Primary productivity
C
Wi ST
Carrying capacity
D

qg-1 &Hdr
Correct Ans : C

Subject : Gen. Science graduate

Q.No: 23 Which molecules are formed when fat is digested?
2632091
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I & T R HH Y 37 I7d 82
Alkaloids

Jfehalgs
Fatty acids and Glycerol

F s iR ferrRTa

Amino acids

it Thrs

Glucose

BT

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 24 Which organism is considered as a missing link between reptiles and birds?
2632122

fore ot ) Ty AR oyl g B B A o 22

Archaeopteryx
A

sfharefad

Sea anemone
B

ik

Pteranodon
C

[RIESIE

Duck-billed Platypus
D

so-fawe @
Correct Ans : A

Subject : Gen. Science graduate

Q.No: 25 In which species did Darwin study adaptive radiation?
2632124

I 7 erggpelt fafdror o sremg fop wonfar & fapar ar?

Starfish
A

wRfpw

Finches
B

fRifen

Lobsters
c

i wofemt

Tigers
D

qw"

Correct Ans : B

Subject : Gen. Science graduate
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Q.No: 26  Which of the following matches is incorrect?
2633543

Fofafed & & oF 1 3 Tad 82
Citrus- Citric acid
A
HECH- AERP
Curd- Lactic acid
B
gl- Affew opa
Tomato- Tartaric acid
C
THER- TRENS 3
Ant sting- Methanoic acid
D

Hé &1 So- AATD o
Correct Ans : C

Subject : Gen. Science graduate

Q.No: 27  Alkalis are
2633546

&R gl

bases, which are insoluble in water

A

&R, St Uit & argerrie §

bases, which are soluble in water
B

&R, 5t Uit & gersita §

acids, which are insoluble in water
c

o, S e F gt §

acids, which are soluble in water
D

3w, St urf & geeie §
Correct Ans : B

Subject : Gen. Science graduate

Q.No: 28 Bond formation does not occur when overlaps.
2633602
Sy BT A0 7 781 Sl © o HifreaTe T 1
Positive
A
HPRTHAD
Negative
B
APRTHAD
Rational
Cc
qHETT
Zero
D
T

Correct Ans : D
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Subject : Gen. Science graduate

Q.No: 29 Which of the following is the same as a positive overlap?
2633603

9 & ¥ $ O IPRIAS NRAY F FAA §?
Out-phase overlap
A
IHIe-H favAy
Zero overlap
B
I vy
Negative overlap
C
TPRTHS aRAY
In-phase overlap
D

g-%o Sy
Correct Ans : D

Subject : Gen. Science graduate

Q.No: 30 When is International Forest Day celebrated?
2639502

TS 9 feaw Fa T Sl 82
31 March

319

21 March

21 O

30 September

30 RdsR

29 July

29 g

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 31 What is a shape of pyramid in an ecosystem?
2639509

yRfRufae & 7 fORIfirs &1 MR Har gt 82

Always straight

A
g e
Always upside down
B
T ST
First straight then reverse
o
Tgd T 91g § Ieer
D 3 dimension
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3 3
Correct Ans : A

Subject : Gen. Science graduate

Q.No: 32 Where is the Deodar tree mainly found?

2639556
39ER 94 G=&I ¥U Y Fgl Ul Sl 82
Himachal Pradesh
A
femmaa v
Madhya Pradesh
B
oA YW
Uttar Pradesh
C
IW T
Manipur
D
AR

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 33 Which soil has maximum water holding or water absorbing capacity?
2639588

Faffiie SId IR T STel T AN P BT & 59 gar & sifiiean gt 32

Alluvial soil
A

STeitg et

Clayey soil
B

afear ger

Humerus soil
Cc

TYHYH Hal

Arid soil
D

P HaT

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 34 Photosynthetic action spectrum was first observed by
2639801

TR ARSIV ol TagH T UUT Sfacie fhud gRI foar T ur?

T. W. Engelmann

A
& g T
Priestly

B
et

C Morgan
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wR

Robert Hooke
s §F

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 35 Which light colour promotes the greatest amount of photosynthesis?

2639802
B A AL BT T YHR ALAT HT Jd TSI HB S FgTaT 4l 82
White light
A
g A
Yellow light
B
et At
Red light
C
e et
Green light
D
T USRI

Correct Ans : C

Subject : Gen. Science graduate

Q.No: 36 There are 36 very tall boys in the class. What number of the class is made up of girls if these make up three-fourths of the boys and the class as a whole has two-thirds of
2613918 ;
girls?

Fel A 36 9gd T (tall) TSP &1 bl T TSl $t T fba & afe ¥ deobt & G o1 dH-9rrE B ok ft wen & wrefbal 3t g § de 3t e -fer 82

36
A

36

22
B

22

24
C

24

19
D

19

Correct Ans : C

Subject : Gen. Reasoning graduate
Q.No: 37 Directions: Read the following information carefully and answer the given question.

2614038

Anjali, Aman, Abhishek, Abhijeet, Tarun, Prince, and Shalini are sitting around a circle facing the center. Anjali is in the middle of Tarun and Abhijeet. Prince is in the middl¢
and Shalini. Aman is second to right of Tarun.

Which of the following statement is incorrect?
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frdw: Fofifad Sert @ eryds ug 3R 2T e uy &1 3w Rl
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feifer, oA, sifids, sifteia, avor, i ofR <ot I @) oik g X Us TR & 35 B ofaifdr, a0 3R sifirolid & ot & 1 BN, o oiR <ot & g & 81 o, 001 & ol ¥ g RIF

Frafifad § 3 BH-31 Y 7Tad 82

Tarun is an immediate neighbor of Abhijeet

Toul, sifirfia @1 Frpean ToiA @

Anjali is an immediate neighbor of Abhijeet

arfd, arfirefta Y Freeaw TRt §

Aman is an immediate neighbor of Abhishek

3, e T Frpedd Tsrf @

Abhijeet is an immediate neighbor of Shalini

afirsfta, iR &1 Freean Tsih @

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 38
2614190

Select the option that is related to the fourth term in the same way as the first term is related to the second term.

DFH : IKM :: ? : TRP
IY faced &1 99 B ol DY U § I UHR Fafd 8 SR Uge Ug g UG I Weifdd 7
DFH : IKM :: ? : TRP

OMK

OMK
OKM

OKM
OPK

OPK
RMK

RMK

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 39 Each of the questions below begins with a collection of numbers or letters, followed by four different symbol combinations with the letters and numbers A, B, C, and D. Bas

2614364 symbol codes and the requirements listed below, you must determine which of the following four combinations accurately depicts the set of digits or letters.

[Leter[ Q[ D [I[P[S[E[H[R[C[U[M[W[N[A[I[B[O]
[Code [T[@[5[4]1[2]6 ]S slafs[a]zfofs]r ]

Situation 1:

If a word contains more than two vowels, the code will be written backward.

Situation 2:

The first three letters of the code will be written in reverse if the word has no vowels.
Situation 3:

The last two letters of the code will be modified if any two letters in the word are the same.

Note: All conditions will be applied if more than one is required.
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What would the word "PMIMN" mean in code?

2 feam T Udie vy TRemalt A1 SeRt & TUE W L BT 7, S TG 3HeR AR WA A, B, C, 3R D & I IR STHI-HAT Tl TASH B Bl Ueiie Bis 3R T2 Gellag snazadmarsit & o

U a8 Fyiika &A1 8 6 B 1 Fefafed IR THieH it ar 3ierl & Tg & Iis =0 I o €

[Letter[Q[D [I[P[S[E[H[R[C[U[M[W[N[A[I[B]O]
[Code [T[@[5]4]1]=]6[s[%[0[&[3[2[7]0]8]1]
R 1:

Ife foreft vz H Q1 ¥ o WR B, o Pis I IS B AR fora smum
fRufa 2:

Ife Teg & PIg WR TG & A PIS S U A &R Iee g e
fufa 3:

e Teg & FIS 41 &R A § A BI & 3ifom & s1eR T g sma
e: T ¥ AP I Saxgehar g W Gt = @ g

B H "PMIMN" RTeg H1 &1 3ref ghmr?

45688
A

48688

1%3%6
B

1%3%6

4858&2
C

4858&2

48&52&
D

4&52&

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 40 Read the following codes carefully, then respond to the questions.
2614365
Using a specific code,
The lyrics of "Live Today Like Last" are written as "ra mu pe ka."
The song's lyrics “Live Like A King” are written as "su ka pe ke."

The lyrics to "Be Like Last King" are written as "pe na ke ra."

The spelling of "A Good Day Today" is "da ku mu su."

Which of the following may be the code for ‘Day Was Good' in the given code language?

Frofafed SISl # eryds ug, R Ul % Iw <

W IR Prs &1 ST H1,

"Live Today Like Last" & &d "ra mu pe ka" forg T Bl
“Live Like A King” T % e “su ka pe ke” i3 €1
"Be Like Last King" F ad "pe na ke ra" for@ T B

"A Good Day Today" @1 @I "da ku mu su" 31

& ¢ Fe U # 'Day Was Good’ & o FRafifad # § o191 91 ge & 9ad 82

A su pe ma
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su pe ma

ku pa da

ku pa da

su mu ku

su mu ku

da me mu

da me mu
Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 41 The letters (a), (b), (c), and (d) are followed by four sets of digits or symbols in each of the examples below (d). Determine which of the following coding combinations be:
2614379 the set of letters, and then mark that combination's number as the correct response. Mark (e), which means "None of these," as the correct response if none of the four cc
accurately describes the set of letters.

Note: The conditions must be applied in the order listed below if more than one applies.

Letrer|P|D|IE|R|A|S|K|T| |\I|1|H|C| | |
[5]4 z[3

Symbol [* [% | o[ 7 @[ 28

Conditions:

(i) Both letters are coded using the consonant's code if the first letter is a vowel and the last letter is a consonant.

(ii) If the second and last letters are both vowels, their codes must be switched.

(iii) Both letters must be coded as the vowel if the second letter is a consonant and the second to last letter is a vowel.
(iv) If the first letter and the fifth letter are both consonants, the third letter is denoted by both of them.

(v) If a term is given but does not fit any of the criteria listed above, the first letter's code is switched for the second letter, the third letter's code for the fourth letter, and

Where can I find the "ADDICTION" code?

3ER (T), (ah), (), R () F 91e -1 T T vdF g (I F 3T a1 Udiwt & IR e g 7
Fufta B% i Fafifed 3 ¥ 1 1 SIfET ToM &Rl & Y & Yo 3T T 8, R fhR 39 Taior @I Ter &1 I8! ufafhar & Tu & fafgd &3
a1 (3), et orf & "a78 ¥ B 7Y, W vlafpar & = § Al IR SaeE § § o1 oft 3ieRt F Ve 51 e ui T et g

o & 9 U 9 3 ar 8 € o wdl ) R Geag o & an e st iR

[Letter [P[D[E[RJA[S[E[T[O[N[I[H[C[L]Y]
[Symbol [* [%[o[7[@[2]s[s5[a]=[-[s]=]3["
fRufoat:

(i) S 31eRY Y Lo P BIS BT IUGNT BIP BIISd fbaT ST § Il Tea &R Teb TR ¢ 3R 3ifdH &R Teb oo B

(ii) T ERT SR Sife 31eR IHF R 7, O 370 Bis g fvy M =fgu

(iii) T 31eRT P WR F ¥U B Hifed frar ST F1feT Afg gIRT 31eR Tdh o 7 3R gak ¥ 3ifm ofeR U@ R B

(iv) TS Tgel 3feR 3R TiEar &R SHI o 8, df dieR 3eR I alHl gRT axifaT S 81

(v) T P weg foa 7 B, b SR Gellag bt oft AFcs § fibe 1 g1l 8, Y Uea 31eR 1 BIs GO 316R P 1Y gaa faar Sl 8, TR 3&R T Bls A1 &R $ T sea ar o 3,
T3 "I HIS Fel B Gobar 82

+74+4 %~
A
+74+4%~
~4~457%2
B
~4~457%2
+47~5#4
C
+47~5%4
D t4%~#5~4+
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+4% ~#5~4+
Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 42 Read the given pattern carefully and select the number which can replace the question mark (?) in it.
2614479

19 [ 14 | 16

280 ? | 301

14 | 18 23

fau g Yo @) e A ufeT SR I Tew BT I FIMT S SN uy fug &) ufaefia R g R

19 [ 14 | 16

280 ? | 301

14 [ 18 | 23

270

270
487

487
521

521
359

359
Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 43 Find out the wrong term from the given alphabet series.
2614600

Z v Y T v R

&} 7 qolren sRaen # TAd UG I1d i
Z Y Y T Y R

z
A

z

T
B

Y
C

Y

R
D

R

Correct Ans : C

Subject : Gen. Reasoning graduate
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Q.No: 44 If PANT is coded as 51, then what will be the code for DOGS?

2628677
If& PANT &1 51 § Hfed fban o &, & DOGS & R He a1 g 2
44
A
44
49
B
49
52
c
52
a5
D
45

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 45 In a certain code, SACK is coded as RZBJ, then how is AMOUNT coded in the same way?

2628691
& fAfYd B H, SACK #Y RZB) & & H foraT i §1 39 H1g H AMOUNT &1 ¥ forar wmem?
ZLNMTS
A
ZLNMTS
ZLTNMS
B
ZLTNMS
ZLNSMT
c
ZLNSMT
ZLNTMS
D
ZLNTMS

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 46 In a certain code, SMALL is coded as VPDOO, then how is HUGE coded in the same way?

2628692

T A s #, SMALL &I VPDOO & =4 # forar Wil 81 39 &8 H HUGE ! 39 forar Smamm?

KXJH
A

KXJH

KIHX
B

KIHX

JHXK
c

JHXK

KHIX
D

KHIX

Correct Ans : A
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Subject : Gen. Reasoning graduate

Q.No: 47 Select the related letters from the given alternatives.

2628812
CGK:PTX::DJL:__
faw U fawed & & Fefda oiert &1 T o
CGK : PTX ::DJL: ___
oQwW
A
oQw
WoL
B
WoOL
0QK
C
0QK
SGB
D
SGB

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 48 Select the related letters from the given alternatives.

2628846
mmnnrstt : nnoostuu :: eefghhij : ?
faw T fawedt & & Fafid oert &1 T o
mmnnrstt : nnoostuu :: eefghhij : ?
ffghiijk
A
ffghiijk
fgghiijk
B
fgghiijk
fghfiijk
C
fghfiijk
higfiijk
D
higfiijk

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 49 Three of the following four are alike in certain way and so form a group. Which is the one that does not belong to that group?

2628855
Find the odd word from the given alternatives.
fau MU TR fawedt § 9 O e geR THE § ok T Ug 99 § e A @ o1 W1 39w @ e e
Tempo
A
|
B Truck
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@

Cargo
C

Eauii

Trolley
D

gt

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 50 Find the odd one out from the given alternatives.

2628867
faw TTu faeedt & @ fawH W B
Mare
A
=gt
Rooster
B
ot
Stag
C
IRERI
Gander
D
il

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 51 Find the odd one out from the given alternatives.

2628875
feu U fowedt & 9§ foww 1@ A
Bank card
A
¥ F1S
Debit card
B
e a1
Credit card
Cc
oKy
Memory card
D

T BT

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 52 Study the following information carefully and answer the questions given below it.
2629238

Eight people A, B, C, D, E, F, G and H are sitting around a circular table. A and B are facing towards the centre while the other six people are facing away from the centre.
second to the right of H. B sits third to the left of A. D sits second to the right of G. G is immediate neighbour of neither B nor A. E and F are immediate neighbours and ar

outside.

What is the position of C with respect to D?
https://mppeb.cbexams.com/MPPEB_Cand_Objections/Ecrt2023febgrive_adminpanel/Final_Model_Answer.aspx
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& e Pl SR B ud iR R M usi H IR T -

38 AR A, B, C, D, E, F, G 3R H THh JAHR I & IR 3R 3¢ E1 A 3R B &g @1 iR T {5 gU & Tafbery ©: =fed $% & AUy g@ FA gU I A, H $ 2 Y g0 ®IH R JaT 81 E
AP TEY TR VF RIS D, G & ¥ G VM WIS 81 G 7 B e} A BT Hbead TSRt 81 E 3R F Fpean verf § ok Fx & da g 52 gu gl

D & Wl C BT o1 R 87

Third to the right

A

3¢ 3§ T

Third to the left
B

g deRT

Fourth to the left
c

g &

Fourth to the right
D

e | T
Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 53 The positions of Suman and Rajesh in a row are 12% from left and 8th from right respectively. If they
2629267 interchange their places, then Rajesh will be 17% from right. Find out the position of Suman from left and
the total number of persons in the group?

GO U9 IO T U Ui H SHERT: 918§ 12 91T 9 S Y 84 RIF W B A I S R oo H gd Ad § df IO BT R S Y 1737 8 S 81 Jd B B AT BT 9T F BI-I1 -
Tg § oo fbem i € 2

20, 28

20, 28

21, 27

21, 27

21, 28

21, 28
25, 26

25, 26
Correct Ans : C

Subject : Gen. Reasoning graduate

26'\;%2146 A paperis folded and C‘E,'E_ a_s_s‘ilewi’ri tlelow.'_}lo_\;'f ‘_’*3“_11 gp_p_?ar when unfolded?
3 o i
] | I 1
I 1 I 1
I f 1 i- 1
\ | %
I ®
' 0@

2 feETT SFAR TS BRI B AIST 3R HIeT Wil ¢ SFHIcE 8- R I8 Ha fe@rs e
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eOe

L]
(o}
®

RO
QOIOQ

L d
oe
®

e0e

eOe

*
(o}
*

e
QOIOQ

L d
oe
®

e0e

eQe
'3

L ]
S P

[ ]
o
[ ]
®
Q
[ ]

oo

[ ]
Oe
.
L
L ]
[ ]

et
SOCO.

]
O
e

..do

L
(o]
L
L ]
o]
L]

.
02 COe

o

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 55 Which of the boxes comes next in the sequence?
2631079

H B ST BH-T i 7T 32
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SEEEE

&
jE
S
B
=
=)

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 56 If 10 June 1866 is on Friday then what will be the day of 10® June 18877
2614236

I 10 S 1866 P YHAR AT A 10 T 1887 BT Hi I f& grm?

Monday
A
GILEIN
Wednesday
B
qYarR
Friday
C
YPAR
D Saturday
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faR

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 57 What day was it on 25 March 1999?

2614274
25 A 1999 B HIF &1 T Ur?
Friday
A
ThAR
Saturday
B
RUECIN
Monday
C
AR
Thursday
D
TeaR

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 58 The average weight of L, M, and N is 85 kg. If the weight of L and M is 89 kg and 94 kg respectively, then what is the weight of N?
2616982

L, M, 3R N &I 39 g 85 b 81 afe L 3R M &1 HR HH: 89 fbum 3R 94 fham 8, df N &7 4R fbe 82

72 kg
A

72 f&m

85 kg
B

85 fm

96 kg
C

96 f&um

56 kg
D

56 f&um

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 59 What is the standard deviation of the given data?

2616992
3,8,4,5,9,13
o M Fe1 &1 A fme @ e
3,8,4,5,9,13
3.41
A
3.41
B 4.82
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4.82

2.55
C

2.55

5.12
D

5.12

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 60 What is the deviation around the mean of the following distribution: 58,47,69,32,14,

2616993
Frofefad faaror & Aren & Uy faua @1 8: 58,47,69,32,14,
13.4
A
13.4
18.2
B
18.2
12.5
o
12.5
16.8
D
16.8

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 61 What is the mode of data?

2617000
(13, 12, 24, 12, 19, 12, 13 19, 12, 15, 22, 13)
3T T gD T 37
(13, 12, 24, 12,19, 12,13 19, 12, 15, 22, 13)
13
A
13
24
B
24
12
C
12
15
D
15

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 62 What is the median of given data?
2617001

(16, 12, 13, 10, 3, 14, 13, 17, 15, 18, 11)

faw U St @1 AT @ 72
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(16, 12, 13, 10, 3, 14, 13, 17, 15, 18, 11)

14
A

14

17
B

17

13
C

13

10
D

10

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 63 Determine the mean deviation about the mean for the following data:

2617015
12,10,4,5,8,18,20,25,31,5
frafafed Se1 & o wrer & aR & T fagem fufka a3
12,10,4,5,8,18,20,25,31,5
5,98
A
5,98
2.86
B
2.86
7.76
[
7.76
8.96
D
8.96

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 64 Arrange the given word in a meaningful sequence and then choose the most appropriate sequence from amongst alternatives provided below.
2618048

1) Rain

2) Monsoon
3) Rescue
4) Flood

5) Shelter

6) Relief

@ T wreat Y orfgel w1 F FrafRid w¥ ok AR A fawedl § ¥ Ied Suged F9 & A

1) auf
2) WG
3) ¥919

4) dg
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5) M
6) XTed
A 1,2,3,4,5,6
1,2,3,4,5,6
B 1,2,4,5,3,6
1,2,4,5,3,6
C 2,1,4,3,56
2,1,4,3,5,6
D 4,1,2,3,56
4,1,2,3,56
Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 65 Arrange the following words as per order in the dictionary.
2618102

1. Luxemburg

2. Luxury

3. Luxurious

4. Luxuries

5. Lucks

SR TreEd IR # fU T quigmH SrER efifed el & Fafyd
1. Luxemburg

2. Luxury

w

Luxurious

4. Luxuries

wi
[
c
Q
~
%

~
~

~
<

~
~

<
~

<
<3
~

~
~
<3
~

D

ao osa w
4
NN RKE NN WW

~

O BHKH NN Bp Bp
PA AP WL A
WW Ww AN NN

~

Correct Ans :

Subject : Gen. Aptitude graduate

Q.No: 66 Arrange the following words as per order in the dictionary.
2618104

1. Sensation

2. Sensuous

3. Sanctus

4. Sensors

5. Seminole

6. Seminar

frefifed Wl #1 TEd Y HHTER AR B
1. Sensation

2. Sensuous

3. Sanctus

4. Sensors

5. Seminole

6. Seminar

6,51,4,23

6,51,4,2,3
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6,5 3,1,4,2

B
6,53,1,4,2
3,6,51,4,2

c
3,6,51,4,2
3,6,54,1,2

D

3,6,54,1,2
Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 67 How many pairs of letters are there in the word 'CREDIBLE' each of which has as many letters between them in the word as in the alphabet?

2618163 I 'CREDIBLE' & 3i&R % U fban NS € Rd ot Sav € 3ieR 3 €, Riaer oidioh qufamer o o 82

A Nil
1§ el
One
B
e
c Two
D More than three

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 68 Select the word which cannot be formed using the letters of the given word.
2618164

DISCRIMINATION

T T et & ¥ 39 Weq &1 T899 IR S T T Wed H 1eR & ITNT ¥ oY S o epal

DISCRIMINATION
Crain
Crain

Print
Print

Train
Train

Nation

b Nation

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 69  Arrange the following words as per their order in the English dictionary.
2618264

1. Defect

2. Defence

3. Deerstalker

4. Defensive

frafifad weal 31 Tead I & AT T H1 & SER fafaw)
1. Defect

2. Defence

3. Deerstalker

4. Defensive

A 2,3,1,4
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2,3,1,4

1,3,2,4

1,3,2,4

4,3,1,2

4,3,1,2

3,1,2, 4

3,1,2,4
Correct Ans : D

Subject : Gen. Aptitude graduate

QNo: 70 Tp a certain code, if:
2625236

'A & B' means 'A is brother of B’

'A % B'means 'B is Husband of A’

'A # B' means A is daughter of B

'A £ B' means 'A is father of B’

Then which of the following expressions indicates the relationship 'T is father-in-law of H'?

w ffyd Fis ¥, afe:

ABHTIAHFR'A BHTHUE QI

A%BHT 3B, AT URI R

A#BHIIR A BB SR

A£BFT T A, BH g

@ AT ¥ Y SH-T1 9P T, H 3T OR &' & JaY B gidr 82
H%IJ&L#PLET

H%IJ&L#PLT

H%J&PLL#T

H%J&PLL#T

H%IJ&L#TELP

H%J&L#TEP

H%P&JLLAT

H%P&JLLAT

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 71 Which number is common to all the geometrical figures in the diagram below?
2628607

6’.&“;\;‘9
A0
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) Rou u o F B T T ot sty snefadt B T 82

A
CLND

AN

7
A

7

5
B

5

2
Cc

2

a4
D

a4

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 72 Select the option that is related to the figure in the same way that the second figure is related to the first figure.

2629417

BB

I e 3T 909 B O A STpia § I RE T B SR g i vselt Sy ¥ Taf 71

&

9

&

s

25 B &
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e RN

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 73 Three positions of a cube are given. Based on them find out which number is found opposite the number 2 in the given cube.
2630072

SRvRY

TP T B i Rl & 7 ¥ S MR W T1d S P 3T U v B e 2 & fauwda se-5 gem 3

SAVRY

1
A

1

5
B

5

a4
C

a4
D

3

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 74  Find minimum number of straight lines required to draw the following figure.

2637413
Mk

Frfafed snefa 37 % g smaxge Weh Yarsit @ gHaw T I Fifvm-
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RN

14
A

14

17
B

17

12
C

12

13
D

13

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 75 Product of three numbers is 48 and first number is twice of second number. If third number is 6, find the first number.
2639309

A TSN BT AT 48 § SR UG AT G BT ST 2| TS I WG 6 7, ol U G i P |

2
A

2

3
B

3

a4
C

a4

8
D

8

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 76 1 . 514 _
2639310 3x +—x = 9. what is the value of 25x* + x7 x#0]
=l

a%3x+éx:9’5‘_a’rz:<xl +§xl?[x.=’ 0] & AT @7 87

200
A
200
EJ
B
665
S
Cc 623
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300
Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 77 Average marks of 5 students in a subject are 68. By how much will the average be increased, if marks of one student wrongly taken as 65 instead of 80?
2639317

T fava # 5 B F ST 9iF 68 ¥ I UF B F 9! Bl 80 F I9M 65 & U H Tad a<id ¥ i T |, dF oimd B et 3 3 s

4
A

4

1
B

1

3
(o

3

2
D

2

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 78 A retailer buys a cell phone at a discount of 15% and sells it for Rs. 5865. Thus he makes a profit of 15%. The discount is?
2639324

T {3l U ¥d BIF 15% @1 ge R Wadl § 3R 39 & 5865 I B J9d1 71 Y 98 15% AT BT 81 Fe 8-

650
A

650

750
B

750

800
C

800

900
D

900

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 79 What value will come in place of question mark (?) in the following question?
2639325

B%ofezsszof {216
Fafraa vy & vy g (?) & RIF W &1 AF 3T
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125

7

625 T ;—0 = {216 =r

51
A

51

33
B

33

42
c

42

30
D

30

Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 80 A train of 150 meter crosses a bridge of 300 meter in 30 seconds. In how much time will this train cross a second train coming from opposite
2639341

direction having a length of 200 meter and running at a speed of 36 km/h?

150 Hiex P TP ¢ 30 IHS A 300 Hiex F G B UR B! &1 T8 7 200 Hiex I dars 3R 36 fhel/der 3t i ¥ Rudia fG=n & o arelt gudt o7 &1 i I9g & uR Hwie

14 seconds
A

14 9S

15 seconds
B

15 9S

12 seconds
C

12 955

16 seconds
D

16 95S

Correct Ans : A

Subject : Gen. Aptitude graduate

Q.No: 81 If the numerator of a fraction is increased by 25% and the denominator is doubled, the fraction thus obtained is equal to 5/17. What is the original fraction?
2639342

gfe; forddt =T &1 7= 25% g ST B SR &R B ST foran @ B, O 39 YR Ui =T 5/17 % SRR gl 81 g e o 82

8/17
A

8/17

8/21
B

8/21

5/23
C

5/23

13/17
D

13/17

Correct Ans : A

Subject : Gen. Aptitude graduate
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Q.No: 82 Given pie chart shows the ratio of students who likes different things among (Music, Sports, Reading and Dancing).

2639359
Total students= 150
Find that the number of students who like Music and Reading together is approximately what per cent less than the number of students who like Sports and Dancing togetl
g A A S O & U Y Giar T € o (F7id, @, e 3R J) & o fafte =il &) wie wa g
Fel TIA =150
TF 1Y T IR U1 URig B A1) BT B WA, Th TN W 3R T TG B a1 B BT T F I e forwid & 82
14%
A
14%
28%
B
28%
24%
C
24%
30%
D
30%

Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 83 Find the odd number from the given alternatives.

2641532
faw e fasedt & @ faww,/firs T 1d SR
Y

A
Y
3

B
3

C o
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(o]
I

I
Correct Ans : D

Subject : Gen. Aptitude graduate

Q.No: 84 Find the odd one out from the given alternatives.
2641534

few v fospe # fowm /i wra@ SifvE|

DEGJ

DEGJ
QRTW

QRTW
JKNQ

JKNQ
YZBE

YZBE
Correct Ans : C

Subject : Gen. Aptitude graduate

Q.No: 85 Select the related number from the given alternatives.

2642133
195: 14 ::840: 7
fau U fawed & § wafia dem 1 7 Pif-
195: 14 ::840: 7
27
A
27
29
B
29
21
c
21
31
D
31

Correct Ans : B

Subject : Gen. Aptitude graduate

Q.No: 86 A wire is bent in the form of a square and encloses an area of 576 sq.cm. What will be the enclosed area when the same wire is bent into the form of a circle?

2616636

T dR B U oif & U & HsT 71 § O 576 I Y &%d HY WRall 81 9IF I R &I Th g $ &Y & WsT 1l @ df URag thd o1 g

A 510.56 cm?
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510.56 cm?

733.09 cm?

733.09 cm?

125.56 em?

125.56 cm?

340.65 em?

340.65 cm?

Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 87 If the perimeter of a rhombus is 40 cm and one of its diagonals is 16 cm, then what is the area (in square cm) of the rhombus?
2616654

g T FHagys &1 uRmrg 40 It B &R SUwT tw fawuf 16 It B, @ wHaqys &1 dawa (o It F) w @2

96
A

96

20
B

20

85
C

85

65
D

65

Correct Ans : A

Subject : Gen. Maths graduate

2'5'\‘1‘2 68783 A conical chamber with the same height and base diameter as the solid cylinder's height (18 cm) and
diameter (14 cm) 1s created. The remaining solid's volume is around (m = 22/7).

3w o 3 (18 T afi s (14 D) & T S S ST ST ST O AT s ST S 2
e B T AT e (= 22/7) 3

1844 cm?
A

1844 cm?

1448 cm®
B

1448 cm?

1888 cm®
Cc

1888 cm?
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1848 cm?

1848 cm?

Correct Ans : D

Subject : Gen. Maths graduate

2'6'\1(;68799 Find the volume of a cuboid if a = 319825 p = 10198109 3nd ¢ = 719878

T U FTIMTTT AT ST T 0 = 319825, h = 10198109 apnd ¢ = 719872

260
A

260

360
B

360

560
C

560

460
D

460

Correct Ans : B

Subject : Gen. Maths graduate

.No: 90 . . . .
26106850 If the compound interest on a sum for 3 years at 9 g p-a is Rs 680 the simple interest on the same

sum at the same rate for the same period of time is-

afe frdt AR R o Z9fd af Bl <3 3 3 91 & forg Fenqf: sart 680 308 &, ot T My
IR A 3faf¥ & N T8 R IR AR &1 F97 87

602
A
602
600
B
600
601.65
[
601.65
603
D
603

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 91 A builder borrows Rs 1450 to be paid back with compound interest at the rate 2% per annum by the end of 2years in two equal yearly instalments how much will each inst
2616858

T foeeR 2 9 F ofd aF < 9uH e et & 2% Ul 9 Ft R I THafS S F Y YA HA F AT 1450 IH JUR AT B 3R TS e fpat gt
A 746.82
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746.82
77785

77785

456.36

456.36
785.65

785.65
Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 92 g . 17
2617057 What part of fraction e should be added to it to get sum i

Torea Fr & fow B 2 Fr fraer anr swe e S aiw

36
25

,_
b=

S

—
[

=
rq|“~‘

o3

25
9

Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 93 Suppose that A's pay is equal to 75 percent of B's and 150 percent of C's. What is B's pay if C's pay is 80,000? Furthermore, figure out A's.
2617556

T RN 6 A BT 369 B & 75 WA= 3R C & 150 UfA=Id & SRR 81 A C HT a1 80,000 B it B BT A a1 82 S0P 3relrdl, T & Ja T Ul M|

1,20,000 and 1,60,000

A

1,20,000 3R 1,60,000

1,20,100 and 1,10,000
B

1,20,100 3 1,10,000
c 1,50,000 and 1,10,000
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1,50,000 3 1,10,000
1,50,100 and 1,60,000

1,50,100 3 1,60,000
Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 94 630 is what percentage of 35?

2617562
630, 35 &1 fra Tfa=rd 82
1800%
A
1800%
90%
B
90%
180%
c
180%
190%
D
190%

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 95 Poorva Express covers a certain distance at a constant speed, if it covers half the distance in 3 times the time, then find the ratio of this speed to that of the constant spee
2617628

yaf Teai Us Fad gt o urd & a9 wedl 8, 9fE a8 ot gl 3 1 Tmg A uR &Y d 59 = SR fgd Te A U # gid S

3:1
A

3:1

2:1
B

2:1

1:2
c

1:2

1:3
D

1:3

Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 96 Purvanchal Express crosses an electric pole and a bridge of length 250 m in 6 sec and 18 sec respectively. What is the speed of the train?
2617646

Yafae TR0 TS fwel & T SR 250 Hiex 49 g0 B HH: 6 s AR 18 Jbs & UR Bl 81 7 F 7 1 22

79.2 km/h
A

79.2 fosdi/e
B 74.98 km/h
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74.98 f&ft/«
84.5 km/h
C
84.5 faft /v
94.28 km/h
D
94.28 f&ft/«

Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 97 N i (6-2)*+(3)°+(-6) .
2617758 Find the simplified value of e—io)ezxa ¥

(e 2+ (3040 g7 e T AT BITIT-

(18-10)+2%4
19

16

A
19
16
12
10
B
12
10
5
10
C
5
10
10
5
D
10
5

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 98 The value of 26 — 4[4+ 2(2 — 1)(6 — 4)] + 10+ 2 is-
2617764

26 — 4[4+ 2(2 — 1) (6 — 4)] + 10 + 2 FTAT R 57

-1
A

-1

25
B

25

36
C

36

-2
D

-2

Correct Ans : A

Subject : Gen. Maths graduate
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Q.No: 99 How many hectares can 36 women harvest in 30 days if 6 women can harvest 60 hectares in 24 days?

2617878
36 AfeNy 30 ft # fobe SRR B Pie Fah! § A 6 AT 24 A F 60 TR I FIe Fabdl! 57
450 hectares
A
450 TRW
500 hectares
B
500 TR
650 hectares
C
650 TR
320 hectares
D

320 FRW

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 100 Work can be completed by 18 ladies in 12 days and by 12 males in 9 days. How many days will it take for 8 men and 8 ladies to finish that task?
2617884

18 Afgarsit gRT 12 fe i & ofR 12 qoul gR 9 el & o g1 fomayr o Wbt ¥1 39 1 1 8 oW 3R 8 Tt fore fort & qr1 & avf?

9 days
A

o f&

12 days
B

12feF

15 days
Cc

15 fea

6 days
D

6 fo

Correct Ans : A

Subject : Gen. Maths graduate
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